
3

23188 15kg
(33lbs)
RATED

SOUNDBAR BRACKET

INSTALLATION MANUAL



2

>a

TOP

M-D
M6x25

 (x4)M-C
M5x25

 (x4)M-B
M6x16

 (x4)M-A
M5x16

 (x4)

M-H (x4)
D5
 M-I (x8) M-J (x8) 

A (x2) B (x2)

C (x2) E (x4)
M8

G (x1)F (x4)
M6x10

D (x4) 

M-I

M-J

DD

M-GM-E
M-F

DD

M-I

M-J

DD

M-DM-B

C
M-I

M-J

M-E
M-F

C

Note: When top mounting the soundbar, make sure there is ample room between 
the bracket and the TV as shown

1

G

G

M-I

M-J

M-G

C

M-DM-D

D

C

M-CM-C

M-HM-H

D

C

M-BM-B

M-I

M-J

M-E
M-F
M-E
M-F

M-I

M-J

M-GM-G

D

M-I

M-J

C

M-E
M-F
M-E
M-F

D

M-I

M-J

C

M-GM-G

F

>5mm

TOP

A

B

E

A

B

E

a
a

Note: Measure the speaker height before 
installation. Make sure there is ample room 
for the speaker.

soundbar

soundbar

M-G
M8x60

 (x4)M-F
M8x40

 (x4)M-
M6x40

E (x4)

M-A

M-HM-H

C

DD

M-C

M-HM-H

M-AM-A

M-HM-H


